

# Two arithmetic functions related to Euler’s and Dedekind’s functions

**Krassimir Atanassov**

Department of Bioinformatics and Mathematical Modelling  
Institute of Biophysics and Biomedical Engineering, Bulgarian Academy of Sciences  
Acad. G. Bonchev Str., Block 105, 1113 Sofia, Bulgaria  
e-mail: krat@bas.bg

*To Prof. Taekyun Kim for his 60<sup>th</sup> birthday!*

**Received:** 27 September 2023

**Revised:** 28 December 2023

**Accepted:** 23 January 2024

**Online First:** 22 March 2024

**Abstract:** Two new arithmetic functions are introduced. In some sense, they are modifications of Euler’s and Dedekind’s functions. Some properties of the new functions are studied.

**Keywords:** Arithmetic function, Dedekind’s function, Euler’s function

**2020 Mathematics Subject Classification:** 11A25

## 1 Introduction

Euler’s and Dedekind’s functions are two from the most important arithmetic functions (see, e.g. [4,5,7]). They have different modifications (see, e.g., [6]). Here, two new of their modifications are introduced.

Let the natural number

$$n = \prod_{i=1}^k p_i^{\alpha_i} \quad (1)$$



be given, where  $k, \alpha_1, \dots, \alpha_k, k \geq 1$  are natural numbers and  $p_1, \dots, p_k$  are different primes.

For the above  $n$ , Euler's and Dedekind's functions are defined as follows (see, e.g., [4, 5, 7]):

$$\varphi(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i - 1), \quad \varphi(1) = 1,$$

$$\psi(n) = \prod_{i=1}^k p_i^{\alpha_i-1} (p_i + 1), \quad \psi(1) = 1.$$

Below, we will use also functions (see [1, 2, 6]):

$$\underline{\text{set}}(n) = \{p_1, \dots, p_k\},$$

$$\underline{\text{mult}}(n) = \prod_{i=1}^k p_i.$$

## 2 Main results

Let us define for the above  $n$ :

$$\bar{\varphi}(n) = \prod_{i=1}^k (p_i^{\alpha_i} - 1), \quad \bar{\varphi}(1) = 1,$$

$$\bar{\psi}(n) = \prod_{i=1}^k (p_i^{\alpha_i} + 1), \quad \bar{\psi}(1) = 1.$$

Obviously, for each natural number  $n$ :

$$\varphi(n) \leq \bar{\varphi}(n) \leq n - 1 < n < n + 1 \leq \bar{\psi}(n) \leq \psi(n). \quad (2)$$

**Theorem 2.1.** *For each natural number  $n$ :*

$$\psi(n) - \bar{\psi}(n) + \varphi(n) - \bar{\varphi}(n) \geq 0. \quad (3)$$

*Proof.* When  $n = 1$ , (3) is obvious. When  $n \geq 2$  is a prime number, then we obtain directly that

$$\psi(n) - \bar{\psi}(n) + \varphi(n) - \bar{\varphi}(n) = 0.$$

Let us assume that (3) is valid for some natural number  $n$  and let  $2 \leq p \notin \underline{\text{set}}(n)$  is a prime number. Then by the induction assumption

$$\begin{aligned} \psi(np) - \bar{\psi}(np) + \varphi(np) - \bar{\varphi}(np) &= (p+1)(\psi(n) - \bar{\psi}(n)) + (p-1)(\varphi(n) - \bar{\varphi}(n)) \\ &\geq (p-1)(\psi(n) - \bar{\psi}(n) + \varphi(n) - \bar{\varphi}(n)) \geq 0. \end{aligned}$$

Let  $p \in \underline{\text{set}}(n)$ . Therefore,  $n = mp^a$  for some natural numbers  $a, m \geq 1$  and prime  $p$ , and

$$\begin{aligned} &\psi(np) - \bar{\psi}(np) + \varphi(np) - \bar{\varphi}(np) \\ &= \psi(m)(p^{a+1} + p^a) - \bar{\psi}(m)(p^{a+1} + 1) + \varphi(m)(p^{a+1} - p^a) - \bar{\varphi}(m)(p^{a+1} - 1) \\ &= p^{a+1}(\psi(m) - \bar{\psi}(m) + \varphi(m) - \bar{\varphi}(m)) + p^a(\psi(m) - \varphi(m)) - \bar{\psi}(m) + \bar{\varphi}(m) \\ &\geq (p^a - 1)(\psi(m) - \varphi(m)) \geq 0. \end{aligned}$$

that proves the Theorem. □

**Theorem 2.2.** For each natural number  $n$ :

$$\bar{\varphi}(n) + \bar{\psi}(n) \geq 2n. \quad (4)$$

*Proof.* When  $n = 1$ , (4) is obvious. When  $n \geq 2$  is a prime number, then we obtain directly that

$$\bar{\varphi}(n) + \bar{\psi}(n) = 2n.$$

Let us assume that (4) is valid for some natural number  $n$  and let  $2 \leq p \notin \underline{\text{set}}(n)$  is a prime number. Then, by the induction assumption we obtain

$$\begin{aligned} \bar{\varphi}(np) + \bar{\psi}(np) - 2np &= \bar{\varphi}(n)(p-1) + \bar{\psi}(n)(p+1) - 2np \\ &\geq p(\bar{\varphi}(n) + \bar{\psi}(n) - 2n) + \bar{\psi}(n) - \bar{\varphi}(n) \geq 0. \end{aligned}$$

Let  $p \in \underline{\text{set}}(n)$ . Therefore, as above,  $n = mp^a$ , where  $a, m \geq 1$  are natural numbers, and

$$\begin{aligned} \bar{\varphi}(np) + \bar{\psi}(np) - 2np &= \bar{\varphi}(m)(p^{a+1} - 1) + \bar{\psi}(m)(p^{a+1} + 1) - 2mp^{a+1} \\ &= (\bar{\varphi}(m) + \bar{\psi}(m) - 2m)p^{a+1} + \bar{\psi}(m) - \bar{\varphi}(m) \geq 0. \quad \square \end{aligned}$$

In [3], the author introduced the arithmetic function (for  $n$  given by (1)):

$$RF(n) = \prod_{i=1}^k p_i^{\alpha_i - 1}.$$

For it is valid:

**Theorem 2.3.** For each natural number  $n \geq 2$ :

$$\bar{\varphi}(n)\bar{\psi}(n) \leq n^2 - RF(n). \quad (5)$$

*Proof.* When  $n \geq 2$  is a prime number, then we obtain directly that

$$\bar{\varphi}(n)\bar{\psi}(n) = n^2 - 1 = n^2 - RF(n).$$

Let us assume that (5) is valid for some natural number  $n$  and let  $2 \leq p \notin \underline{\text{set}}(n)$  is a prime number. Then, from  $p \geq 2$ ,

$$RF(np) = RF(n)$$

and by the induction assumption we obtain

$$\begin{aligned} (np)^2 - RF(np) - \bar{\varphi}(np)\bar{\psi}(np) &= n^2p^2 - RF(n) - \bar{\varphi}(n)\bar{\psi}(n)(p^2 - 1) \\ &\geq n^2p^2 - RF(n) - (n^2 - RF(n))(p^2 - 1) \\ &= (p^2 - 2)RF(n) + n^2 > 0. \end{aligned}$$

Let  $p \in \underline{\text{set}}(n)$ . Therefore, as above  $n = mp^a$ , where  $a, m \geq 1$  are natural numbers,

$$RF(np) = RF(m)p^a$$

and

$$\begin{aligned}
& (np)^2 - RF(np) - \overline{\varphi}(np)\overline{\psi}(np) \\
&= m^2 p^{2a+2} - RF(m)p^a - \overline{\varphi}(m)\overline{\psi}(m)(p^{a+1} - 1)(p^{a+1} + 1) \\
&= m^2 p^{2a+2} - RF(m)p^a - \overline{\varphi}(m)\overline{\psi}(m)(p^{2a+2} - 1) \\
&= (m^2 - RF(m) - \overline{\varphi}(m)\overline{\psi}(m))p^{2a+2} + RF(m)(p^{2a+2} - p^a) + \overline{\varphi}(m)\overline{\psi}(m) \\
&> 0.
\end{aligned}$$

□

that proves the Theorem.

From (2) it follows that for each natural number  $n$ :

$$\overline{\varphi}(n)\psi(n) \geq \varphi(n)\overline{\psi}(n)$$

and

$$\frac{\overline{\varphi}(n)}{\overline{\psi}(n)} \geq \frac{\varphi(n)}{\psi(n)}.$$

The following assertion is more interesting:

**Theorem 2.4.** *For each natural number  $n$ :*

$$\overline{\varphi}(n)\overline{\psi}(n) \geq \varphi(n)\psi(n). \quad (6)$$

*Proof.* When  $n = 1$ , (6) is obvious. When  $n \geq 2$  is a prime number, then we obtain directly that

$$\overline{\varphi}(n)\overline{\psi}(n) = n^2 - 1 = \varphi(n)\psi(n).$$

When  $n$  has the form of (1), then

$$\overline{\varphi}(n)\overline{\psi}(n) = \prod_{i=1}^k (p_i^{2\alpha_i} - 1) \geq \prod_{i=1}^k p_i^{2\alpha_i - 2} (p_i^2 - 1) = \varphi(n)\psi(n).$$

□

It is well-known that for each natural number  $n \geq 2$ :

$$\varphi(n)\psi(n) \leq n^2 - 1,$$

but (2) and (6) yield

$$\varphi(n)\psi(n) \leq n^2 - RF(n), \quad (7)$$

i.e., a reinforcement of this inequality.

### 3 Conclusion

Two new arithmetic functions were introduced and some of their properties were discussed. In the future, other properties of theirs will be studied and relations between the new and existing arithmetic functions will be explored.

## References

- [1] Atanassov, K. (1987). New integer functions, related to “ $\varphi$ ” and “ $\sigma$ ” functions. *Bulletin of Number Theory and Related Topics*, XI (1), 3–26.
- [2] Atanassov, K. (1987). Some assertions on “ $\varphi$ ” and “ $\sigma$ ” functions. *Bulletin of Number Theory and Related Topics*, XI (1), 50–63.
- [3] Atanassov, K. (2002). Restrictive factor: Definition, properties and problems. *Notes on Number Theory and Discrete Mathematics*, 8(4), 117–119.
- [4] Mitrinović, D., & Popadić, M. (1987). *Inequalities in Number Theory*. Niš, Univ. of Niš.
- [5] Nagell, T. (1950). *Introduction to number theory*. John Wiley & Sons, New York.
- [6] Sándor, J., & Atanassov, K. (2021). *Arithmetic Functions*. Nova Sciences, New York.
- [7] Sándor, J., & Crstici, B. (2005). *Handbook of Number Theory. Vol. 1*. Springer Verlag, Berlin.